Model No: 6343D

V//7:7,4h 4




'71!!’J!!5{a

Model No: 6343D

Parts List

ID Part No Name Qty Notes

1 183032-3 HOUSING SET 1

2 859863-9 NAME PLATE 6343D 1

3 266130-9 TAPPING SCREW BIND PT 3X16 8

4 344391-2 BIT HOLDER 2

5 *xk rkk ***  Click for Technical Bulletin 69295
6 *xk rkk ***  Click for Technical Bulletin 69295
7 687085-9 HOLDER 1

8 *kk *xx ***  Click for Technical Bulletin 62997A
9 416079-5 F/R CHANGE LEVER 1

10 125091-1 SPEED CHANGE LEVER ASS'Y 1

11  251465-1 - FLAT HEAD SCREW M6X32 1

12 192956-2 KEYLESS DRILL CHUCK 1

13 = rxx ***x  Click for Technical Bulletin 60313
14  629729-5 DC MOTOR 1

15 911006-2 PAN HEAD SCREW M3X8 1

16 *** rokk ***  Click for Technical Bulletin 85070
17  643954-4 BRUSH HOLDER CAP 2

18 266134-1 TAPPING SCREW ST 4X8 3

19  265999-8 TAPPING SCREW 4X25 4

20 183032-3 HOUSING SET 1

21  819063-3 MAKITA LABEL 1

1001 122576-8 STOPPER POLE ASS'Y 1

1002 *** ok ***  Click for Technical Bulletin

1003 414938-7 BATTERY COVER 1

1004 784637-8 +- BIT 2-45 2

1005 122575-0 GRIP ASS'Y 1

1006 251812-6 SCREW M5X10 1

1007 416680-6 GRIP BASE 1

1008 921919-9 HEX. BOLT M8X110 1

1009 931202-6 HEX. NUT M5 1

1010 *** rxx ***x  Click for Technical Bulletin 81697
5001 *** rkk ***  Click for Technical Bulletin

5002 *** rrk ***  Click for Technical Bulletin 81697
5003 192829-9 BATTERY 1833 1

5004 *** rkk ***  Click for Technical Bulletin

Page 2/2


https://ecommerce.makita.com.au/online/LINKS/technical/PDF/69295-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/69295-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/62997A-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/60313-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/85070-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/81697-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/81697-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/-WW-1.pdf

